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General Instructions to Candidates :
. 'Ihere is a ‘Cool-off time’ of 15 minutes m addmon to the wntmg tlme
e Use the ‘Cool-off time’ to get familiar wuh questions and to plan your answers.
e Read questlons carefully before answenng :

o  Read the instructions carefully. ‘
e Calculations, figurés and graphs should be shown in the answer sheet itself.

' * Malayalam version of the questions is also prov1ded

e Give equat1ons wherever necessary
e Electronic devices except noqn programmable calculators are not allowed in the

' Examination Hall
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3 Answer all questions from 5 to 8. Each carries 2 scores.
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PART-A )
ACCOUNTING | (Maximum Scores : 40) ',

Answer all questions from 1 to 4. Each carries 1 score. @x1=4)

The Balance Sheet of a not for proﬁt organization does not include :
(a) Assets (b) Liabilities
(©) Owner’s Fund ¥ (d) Capital Fund

Gaining ratio is to be calculated at the time of of a partner.
(8) admission

() death

(b) rétirement /
(d) both (b) and (c)

Forming a partnership deed is

(b) not mandatory
(d) None

(@ mandatory J

(c) mandatory in writing

Unrecorded liabilities locafed oft admission of/a partner will be

(a) Debited to Revaluation.Afc. (b) “Credited to Revaluatwn Alc.

(c) Debited to Capital A/c = (d) _ Credited to Caplml Alc.

4x2=8)
Malu, a partner withdrew T 1,000 regularly at the beginning of cvery month. Calculate
interest on drawmgs @ 6% p.a. n ‘
; BN
e 9 . i \‘a:ﬁ J\p,/ ’/"(L
" Complete the following table : \ PA L
: i { ¥
L oy v
Partner | Old Ratio | Sacrificing Ratio | New RLatio LA
Ra_]an 5 ? - ".;;’,'; Eg /a‘” (:.7
Radhan Th e = e TR T B oy ’ =
5 25 » _ Y e i
'.v V 3 o . :(":j X
¥, " of) - ¢ ,“(\"
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Ascertain the amount of s.mtloncry consumed durmg the year ended 31% March 201 8.

Stock of stationery on 31 03-"017 - ,;2‘ 1,200
Stock of stationery on 31-03-2018 ~ 71,900
Creditors for stationery on 31:03-2018 ~ % 1,400

Amount paid for stationery during 2017-18 - ¥ 1,300

8. Creditors of a firm were ¥ 21,000. Of which creditors for 3 10,000 accepted stock deh
¥ 8,000 on full settlement, Remaining creditors were paid at 10% discount. Calculate the
amount payable to creditors and pass Journal Entry at the time of dissolution of firm. -

SR ALY
3

Answer any 2 questions from 9 to 11. Et.!‘ch"*iarries 3 scores. (2x3=6

9. (@) . Fill up the following as per hint glven' ‘*
Hint : Receipts and Payment A/c. : Cash in hand

W .‘ 1,

Income and Expenditure A/c. PoORAEY ae

«(b)  Write any two differences between Recelpts and Payments A/c. and Income. and
Expenditure A/e. T | N

10. In whn.h muo goodwrll is shared 1

(i) Amount of goodwrll pard to thc out%gmg p

‘ Al\o wrltc any two dlfferences betw:.,en those ratios!

. '\“\; 3 e M ‘ \ 3 E:‘t:"-: 8 i
11. "ﬂ-'tmlll Ac and Ammu are partners sharlng proﬁts in the ratioof 5 : 4 : 3, Achu retires
.. andi is give 1% 8,000 asgoodwill. . ‘5

;(a) Compute the rclevant ratio in whlch goodwrll 1s shared by Anu and Ammu

. '(b) Wnte the Joumal Entry

Answcr any l\question from 12 to 13 Each carnes@ scores. Bk (l X 4 4)

12 A and. B are. parmers in a firm. ‘Durmg the year 2&17 the ﬁrm eamed al proﬁt of
? "4 000 bufore charg gmg ¢ followmg Ij. .

() Interest oncaplmls D8

A "“‘;est*bn dra\\'mgs A 2 3oo B r 200

ofit Md LOSS Appropnatxon A/c 4

AN o B

i N
oo’ =Wy
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3. Journalise the following on dissolution of a firm
(@) Realisation expenses paid ¥ 1,500,
(b) Investments not recorded in the books realized 2 2.000.
(¢)  Creditors for ¥ 10,000 agreed to accept at 5% discount.

" \ &
(d)  Loss on realization amounted to % 1,200.

Answer all questions from 14 to 15. E mh u\rneq 5 scores, | (2x5=10)

14 A, B and C are partners sharing profits as 2 : 1: 2. C retires from the firm. Goodwill of
the firm is based on 3 years purchase of the average profits of the last 4 years results
which were ¥ 22,000, ¥ 28,000, ¥ 18,000 and ¥ 8,000 (loss) respectively.

Compute the value of goodwill and give Joumal Entries in the followmg cases :
(1) When goodwill appears in the books at Z 30,000.
(i)  When goodwill appears in the books at & 5‘0,000.

15.04F ollowmg 1s the Balance Sheetof a ﬁrm where Abhl and Pranayv are partners who share
proﬁts in the ratfo of 3 ; 2 ;

Balancc Sheet as on 31-03-2018

R

Liabilities . [“Amount, OAssets o Amount |
| Creditors 20,000 Cash, ' & 12,000
| Bills Payables & | 30,000 | Debtors 20,000
| Investment FluctuatlonFund T 5,000 (=) Provision _1.000 [ 19,000
Reserve Fund N 20,000 | Stock o haa,000 [0
g O TR | Fumitie (0 B 25,000 |
CULH000 | Machinery | 40,000
30,000 | 73,000 | Investments i T R 30,000 |
»\ Aa il 48 000 « ' ‘ 1,48,000

Fe _mngﬂtransacmms took place on dxssolutlb'h‘ \%f the firm :
L O "i“)ebt'o Fi:e_alized 90% of tli;é“bdok value, 1
S (i) __v‘bhx to&k over furniture atT 22 000 g

lt(:i  were pald 3 17,000 in full settlement and stOCk‘i‘Bf}lized at 10% less the

i R

penses X1 000 pald by Pfanav W | W
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Answer any 1 question from 16 to 17. Each carries 8 scores. (I1x8= 8)
I'he Receipts and Payments Account of Jubily Club for the year ended 31 December,

17.

2018 is given below :

Receipts and Payments Account for the year ended 31% December, 2018

Other Information :

(1)  Subscriptions outstanding as on 31% December, on

31% December, 2018 ¥ 3,000.
(2) Salaries due ¥ 2,500, Rent prepaid ¥ 500, i
(3) On 31" December, 2017, the Club had Furniture ¥ 6,000 and Books ? 3 000.
(4) Depreciate furniture by  3,000. , 1
Prepare Income and ExpenditureAccount and Balance Sheet as on the above date : ; \ S D {

2017 ¥ 2,000 and

The Balance Sheet of Gopika and Deeplka sharing profits in pnoportlon of 3/4 and 1/4 !

is given below :

Balance'Sheet as,on 31* March, 2018

------- Receipts Amount Payments Amount
Balance b/d 12,000 | Rent 3,000 9
Subscriptions 32,000 | Salaries 7,500 3
Donation for building 25,000 | Books 4,000 j
Sale of old newspapers 1,500 | Furniture 12,000 |

Sundry receipts 1,000 | Investment 30,000
Balance ¢/d 15,000
71,500 71,500

g

Liabilities Amount Assets Amount

Sundry creditors 25,0002 y'Cash 12,500

General reserve b ok 4,000 | Bills receivables 3,000
Capitals : T X | Sundry debtors 17,000

" Gopika 31,000 \ v | ) Prov: 1,000 | . 16,000

Deepika 22.500 53,500 | Stock 15,000

Xa Furniture 6,000

\ ‘ -t | Buildings 30,000

‘ 82,500 82,500

Radhika is admitted on the abovc date ‘as per the following terms :

(1) She will bring,in ¥ 20, 000 for capual and ¥ 8 000 as her share of goodwill for 1/4
share in the profits. ‘

(2) Stock and furniture reduced by 10%

(3) Provision for doubtful debts to bc mcreased to ? 1 500 and creditors unrecorded

to the extent of 2 2,000. RN
(4) Buildings revalucd at z 40, 000. X " |
Prepare necessary Ledgcr Accounts and Balance Slu,et

B R 13 3 \

W

- g

- For Free C.:'arrier Counselling contact :+91 8891314091
J Scanned by CamScanner



PART -B
ANALYSIS OF FINANCIAL STATEMENTS

(Maximum Scores : 40)
Answer all questions from 1 to 4. Each carries 1 score. @4x1=4)

1. A company issued 10%, 1000 debentures of ¥ 100 at par. Here 10% indicates :
(a) Discount rate (b) Interest rate , |
(c) Dividend rate (d) None H

2.  Find the odd one out : ' 1
(a) Debt-Equity Ratio (b) Proprietary Ratio
(¢) Inventory Turnover Ratio (d) Interest Coverage Ratio

3. Tools of analysis of financial statements does not include :
- (@) _Comparative Statement (b)" 'Trend Analysis
(c) . Common Size Statement  (d) Income Statement

4.  Which of the following is oba non-cash item ?

‘(a) ' Depreciation f & (b) (Provision
(¢) . Amortization y (d) Income Tax
Answer any 3 questions fréom 5 to 8. Each carries 2,scoress; B3x2=6)

5.  Write the type of debentures mentioned in the following statements :
(@) Debentures for wh1ch the company does not keep any record of debenture holders
(b) Debentures which are redeemable on the winding-up of the company.

6.  Under what heading will the fcllowing accounts appear in the Balance Sheet of a company ?
(@) Reserves and Surplus '
- (b) Inventones

7. Write the 1mpact of the following. transactlons on cash from operations :
€)) lncrease in Debtors
- (b) Decrease in Inventory

8. Calculate Gross Profit Ratio : ‘
Revenue from operatlons k‘_.“? 6,50,000
Returns mwards - ¥50,000
. Cost of revenue ﬁ'om operatxons % 4,80,000

TR 10
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Answer any 3 questlons from 9to 12 Each carries 3 scores. : (3 x3= 9)

9. What are the basic ﬁnancml statements of a company ? Write any two llnutatlons of it.

10. Omega Ltd. purchased a bu11d1ng for L4 2 20 000 Half of the payment was made in cash ‘
and the balance by issue of 12% debentures ata premlum of 10%. Give journal entries.

Y
o

R

v

§ ; 1 A company recelved 20000 apphcatlons agamst 15000 shares offered to the publlc

| g (@ Identlfy the type of subscnptlon mentloned in the above. :

(b) What are the alternatlves avallable to the company for the allotment Of shares m:;i !
such a case I8 : ki

actlvmes

' (a) Sale of fixed assets*}-..

(b) Sale of mventorlesw ;

PR

B . e

.\.COmparatlve statement of Proﬁt-and Loss for the year endmg 31St M”
Rate of income tax was 40%.

201617 | 2017-18

- 6,00,000/  8,00,000
250,000 | 1,00,000

4,06,000 5,00,000

F T . ‘!‘ T 4-'-' »'lv i
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1 x‘5=5‘)

Answer Questions No. 15, which carries 5 scores.

15. Calculate cash from operations.

Items 2017 2018
Balance of Profit and Loss A/c. 20,000 30,000
Bills Receivables ' 18,000 14,000
Provision for Depreciation 30,000 32,000
Outstanding Rent ! 4,000 1,600
Prepaid Insurance 1,200 1,400
Goodwill | 20,000 16,000
Sundry Debtors 18,000| 14,000

Answer any 1 question from 16 and 17. Each carries 8 scores. (1x8=8)

- 16. Sundaram Ltd. issued 50,000 shares of Z 10 each payable as ¥ 3 on application, ¥ 4 on
allotment and the balance on first and final call. 3

4 Apphcanons were rccelved for 70 000 shares and allotment was made on pro- rata
" basis. Adwaith, holdef of 500 shares faﬂed to pay allotment and call money His shares..

s Were Iater.forfelted Give _]ournal : 5
317 }’F'rom the 'foliévifihg details ;ﬂ QQ € :
, Revenue from Operations | 1,50,000
o Cost of revenue fr ‘operatlons 1,20;@00
Openingstock . i~ | 729000 |
.| Closing stock 1 oS - 31,000 i
| Sundry debtors L “asg00
| Net fixed assets _ 5 110000
 Calculate : HEE .
(a) Gross Proﬁt%o T
(b) Inventory tumover"rano
(c) leed assets “ er i
(d) Debtors turnove; i0 ',
SY 49 3
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